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IiH my miy+mo | My +ma+m3 | my+mo+ Mg+ My | My + Mo+ Mg+ myg+ms
ﬁﬁ%/g 200.03 400.08 600.17 800.13 1000.12
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i| my/g | ri/mm | r;/mm | 7/mm | 6L = (F; —Tiy5)/cm | 6L; = (Fo —T;)/cm
0 0.00 5.10 5.08 5.090 0.0630 —
1| 200.03 4.96 4.94 4.950 0.0600 0.0140
2 | 400.08 4.83 4.81 4.820 0.0590 0.0270
3| 600.17 4.70 4.68 4.690 0.0580 0.0400
4| 800.13 4.59 4.56 4.575 0.0575 0.0515
5 | 1000.12 4.47 4.45 4.460 — 0.0630
6 | 1200.21 4.35 4.35 4.350 — 0.0740
7 | 1400.11 4.23 4.23 4.230 — 0.0860
8 | 1600.10 4.11 4.11 4.110 — 0.0980
9 | 1800.12 | 4.00 4.00 | 4.000 — 0.1090
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BIEESH4EZER: d = (0.324 £ 0.002) mm
EBZE: dy=0.000mm d=d —dy=(0.324 £ 0.002) mm
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